Haryana Staff Selection Commission
Afternoon Session, 13.04.2018

Post:- JE
The acceptable limit for the safety and serviceability requirements before failure occurs is called a
(1) limit state (2)  characteristics strength
(3)  working stress (4)  characteristics load
father 81 & Tl GRET 3R 3UTST T HTaRISAI3 o fIT Tlehrdr FAT T dhgelell ¢ 2
(1) drAr aeEr (2) IO &THAT
(3) FRERY ufase (4)  eerfors ¥R
The value of partial safety factor for steel shall be taken as
(1) 1.5 (2) 1.25
(3) 1.15 (4) 1.75
TEreT o TIT RIS FR&T Teeh T Aled fohclar feram Siream 2
(1) 15 (2) 1.25
(3) 1.15 (4) 1.75

In the designation of concrete mix, M refers to the

(1) Materials (2) Mix

(3) Method of construction (4)  Proportion
Hhc FFTFAHAM T FATacaT & ?

(1) @ (2) fAsor

(3) forHATOT Fr qeufd (4) U
The formula to use an estimate of the tensile strength from the compressive strength is
(1) fcr: 0.7 Vfck (2) fcr= 0.5 \/fck
(3) fcr: 0.8 \/fck (4) fcr= 0.4 \/fck
IS &THAT A elel &THT oh AT I ST A I G FATE ?
(1) fer=0.7 Vi (2)  fer=0.5 Vi
(3) fo=0.8Vfx (4) fo=0.4 Vi

In SI, the unit of kinematic viscosity is

(1) sq.m./sec (2)  sgq.cm./sec
(3) cu.m./sec (4) sg.mm./sec
SI &, eErTicieh T T SehTS AT & 2

(1) sq.m./sec (2)  sgq.cm./sec

(3) cu.m./sec (4) sq.mm./sec
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A fluid, which is incompressible and having no viscosity is

(1) Ideal Plastic Fluid (2)  Non- Newtonian Fluid
(3) Real Fluid (4) Ideal Fluid

g Tl iel AT ¢ Sl HENST & 3R ToTasT oot 7181 ¢ 2

(1)  37ee caTiEesd aol (2) IR A
(3) arEdfds &l (4) A O
The atmospheric pressure head is mm of mercury.

(1) 981 (2) 760

(3) 1033 (4) 9810
EIREECIREACKILI ) mmg |

(1) 9.81 (2) 760

(3) 1033 (4) 9810

The rise of liquid in manometers gives the

(1)  mercury level at that point. (2)  discharge capacity at that point.
(3) pressure head at that point. (4)  density of water at that point.
AAHIET ETSTaTAT) H 5 T HRAGOT FAT AT & ?

(1) 39 fdg WIRT &R 2 39 foig W Ao aredr

(3) IHTNgWeENy (4) 39 f§ig T ST &1 "efed

The distance of centre of pressure from the surface of liquid is of the density of the
liquid.

(1) dependent (2) independent

(3) inversely proportional (4) directly proportional

&d |G U &Td & dhog I g1 &d & Eeled W g

(1) R (2 T@daT

(3)  SYchATIITH (4)  3FhATATTH

A line along which the velocity potential is constant is called

(1) flow net (2)  equipotential line

(3) stream line (4) line of constant stream function
g QT FIT Fgdldl & fordeh 1Y 3971 [a97a TR W|ar g ?

(1) vaEae (2 wAfGHT @T

(3) wag@r (4)  Idd JATg Beled X@T

In which type of surveying, the shape of the earth is taken into account ?

(1)  Plane Surveying (2)  Cadastral Surveying

(3)  Engineering Surveying (4) Geodetic Surveying

Ty g & efaTor A, gt & JTehfcl T AT W1 ST & 2

(1) FHAd Fd&oT (2)  H-FTHACT FARTOT

(3) ESifraRer adeor (4)  3FeUTeadl FdeToT
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3 feet = yard.

(1) 1 2) 9

3) 3 (4) 05
3ie = ISt

(1) 1 (20 9

(3) 3 (4) 0.5
1sg. metre = sq. yards.

(1) 1 (2) 1.196
(3) 1.59 (4) 9
19 #Hex = Ok

(1) 1 (2) 1.196
(3) 1.59 4) 9

The Engineer’s chain is

(1) e66ft.long (2) 33 ft.long

(3) 100 ft. long (4) 50ft. long
SN ST g &

(1) 66 e o= (2) 33Wre el
(3) 100 e ofsr (4) 50 HIe o
In a prismatic compass, the zero is marked on the

(1) EastEnd (2) WestEnd

(3) NorthEnd (4) South End
Tosaia o &, = fohd o) 3ifhd gl & 2

(1) warfy (2 sfE Y

(3) 33U (4) ey

In Surveyor’s compass, the card is graduated in quadrantal system
(1) fromO0°to90° (2) fromO0°to 180°
(3) fromO° to 360° (4)  None of these
qdeTeh & HUTH &, TJAT TOTTC & TS I 37eIifehet fohaT ST &

(1) 0" 90° e (2) 0¥ 180" dHh
(3) 0°F 360° dh () AT AP TG
The concrete is taken out in

(1) cu.cm. (2) cumm.

(3) cum. (4) sg.m.

Fohic fohad ot STt & 2

(1) cu.cm. (2) cu.mm.

(3) cum. (4) sg.m.

The weight per metre of 20 mm diameter bar is

3
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24,

(1) 1.58kg (2) 3.85kg

(3) 2.47kg (4) 2.98kg
20 mm =1 aTel ART &7 9fa #Hex 3R [P giar g ?

(1) 1.58kg (2) 3.85kg
(3) 2.47kg (4) 2.98kg

In absence of detailed design the percentage for steel concrete may be taken approximately for

beams is

(1) 07%tol1.0% (2) 1.0% t0 2.0 %
(3) 1.0%to5.0% (4) 05%t00.8%
faeqa fEstmest & 319mma 7 o & T Tt dehie & fow oemsrer wfdera &
(1) 07%H 1.0% (2) 1.0%F 2.0%
(3) 1.0%¥ 5.0% (4) 05%%F 0.8%

The density of steel may be taken as

(1) 78.5 quintal per cu.m. (2)  7.85 quintal per sq.m.
(3) 78.5 quintal per sq.m. (4)  7.85 quintal per cu.m.
TETST T Tl fohdelT ol ST & 2
(1) 78.5 [Fded ufa g7 Aex (2)  7.85 [Fded ufa g9t Hiex
(3)  78.5 fFded ufa g9t #Hex (4)  7.85 [Fded ufa g7 #ex
Which data are required to make out an estimate for a work ?
(1) Drawing (plan, sections, etc.) (2)  Specifications
(3) Rates (4)  All of these
Tl S & TOIT 3eTATST IR el & ToIT ahleT AT ST 3T § 2
(1) & (colTed, W3, 31fe) () ffAger
3) & (4) Jash
A Schedule of Rates for all items of works is maintained in a printed book known as
(1) Standard Rate Book (2)  Schedule Book
(3) Schedule of Rate Book (4)  Standard Price-list Book
Tt & Tl JgcAT & TIT X Gl bl Teh ST TREcehT & TWT ST &, SU FAT He<l &
(1)  ®Teleh T qiEcen (2 JeTge gieceRr
(3) & 3reTee g (4)  HIeTh Heg-Tar IR
is the built up covered area of a building measured at floor level of any storey.
(1)  Plinth area (2) Carpet area
(3) Floorarea (4)  Super Built-Up area
oY off FHTSTST & BT T 9T AT AT &7 fdoc-3T Fal AT g |
(1) foga (2) @RI aT
(3) wraT (4) YW fooe-3ma a7

Which range of population having the rate of demand in 180 to 210 litres per capita per day ?

4
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(1) 20000 to 50000 (2) 50000 to 100000

(3) 200000 to 500000 (4) 500000 to 1000000
3TETEY ¥ 7 I 7 180 | 210 ofex ufay safera ufa et Fr AT T g & 2
(1) 20000 & 50000 (2) 50000 & 100000
(3) 200000 ¥ 500000 (4) 500000 ¥ 1000000

The design period recommended by GOI for storage reservoirs/dams is

(1) 10years (2) 30years

(3) 15years (4) 20vyears

HRA TIHR GaRT HSROT ST / aredt & fore feiRa fBemsa safargdr g
(1) 10ay (2) 30ay

(3) 15a¥ 4) 20aY

The total quantity of water on the surface of earth is estimated as about
(1) 145 x 10° km? (2) 1400 x 10° km3
(3) 1455 x 10° km? (4) 1455 x 10° km?
Gl T Heg IX STel T ool HIEAT SIS feheedl & 2

(1) 145 x 10° km3 (2) 1400 x 10° km3
(3) 1455 x 10° km? (4) 1455 x 106 km?

The hardness is usually measured by the

(1) Soap Solution Test (2)  JarTest

(3) Jackson Turbidimeter (4)  Baylis Turbidimeter
HTHAAR I FHIRAT faraah garT ATy STl § 2

(1) @t ater gdrefor (2 IR 9T

(3) Stode nfaerdrATdT (4)  ofod 3nfderarATd
The impurities of dissolved gases is removed by

(1) Coagulation Treatment (2)  Chemical Treatment
(3) Aeration Treatment (4)  Adsorption Treatment
ferelter It &t JrfertraiTy e gy & Sre & 2

(1) Theed 3UAR (2) TEERS 3TER

(3) drdel 399R (4)  ATAMYOT 3TAR

In Bar chart method, the activity is indicated along

(1) the ordinate (2)  the abscissa

(3) X-axis (4) None of these

IR a1e veuta #, fafafer fras ary Mg fHramdr &

(1) =fe-3 2) &

(3) X-3m&7 (4) ETH A IS AGT

A dummy activity

(1)  required resources (2)  represented by straight bold line
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36.

(3) does not require any time (4)
sFAY aifafafer

(1) & Fareat Hr 3raIFhar gt & | (2)
(3) H THI I FIS 3TaLTHhdl 76T gral | 4)

The example of intermittent type equipment is

(1) belt conveyors (2)  air compressors
(3) pipelines (4) concrete mixers
3Tad YR & SUHIUT T 3GIEL0T hief AT g ?
(1) dec FadI (2) agEdsH
(3) USUAESA (4) shic TAFER
Rubber is an example of
(1)  Plastic material (2)  Ductile material
(3) Elastic material (4)  Brittle material
{93 ToheTenT 3GTER0T § ?
(1) conf®es Al (2 T arHET
(3) YcIEY |rHA (4) IR @l
A beam is said to be if one end or both the ends of the beam projects beyond the
supports.
(1) fixed beam (2)  overhanging beam
(3) simply supported beam (4)  cantilever beam
ERIEIGED] T ST & Tfe N1 & Tah IT et FAY TRY F 918 Aol 8 |
(1) fEgad= (2) Yol&rdH
(3)  Yewrefad <A (4) Sdreiax 17
The trimmed size 584 mm x 841 mm is of size drawing sheet.
(1) Ao 2) A
(3) A (4) Ay

arsst 31897 et fr fers A8 584 mm x 841 mm g |
(1) Ao 2) A
(3) A, (4) Ag
Length and width of rooms are shown in the
(1) section (2)  elevation
(3) plan (4)  All of these
FHAN T e R Terg forad gl ST € 2
(1) s (2 3FTE
(3) Tl (4) Tar
Imposed Load is also known as
(1) Special Load (2) Live Load

All of these

WA Ses @A A A ¢ |
DRSE N
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(3) Snow Load (4) Wind Load
ARITAT AR T Ig T HgT AT & -

(1) VAR (2) TIHAR

(3) RANR (4) dYHR

Which component is not known as basic components of building ?

(1) Floors (2)  Finishing Works
(3) Lifts (4)  Plaster

HaeT & hieT U e HI JIAIIET Teeh el g & 2

(1) de 2 aRsHfa

3) fawe (4) e

Which type of junction is not used in brick masonry walls ?

(1) Ijunction (2)  Tjunction

(3) Intersection (4)  Squint junction

3¢ TS arell fgaRT & fohe aRE o SIeFereT ST 3UANT AT 8IaT § ?

(1) | ST (2 TS

(3) ufa=ser (4)  SIohId SR

The timber which is resinous & catches fire easily.

(1) refractory (2)  non- refractory
(3) industrial (4)  rough

Jg SThs! st AT & oI VAIGR & 3R JTATAT & 39T 93 oidll § 2

(1) I=Ia9Eg (2) IR-3TgamEg

(3) 3w @)  weT

In which classification the fat lime falls ?

(1) Class A (2) ClassB

(3) ClassC (4) ClassD

TGl Y11 fohd Fafientor & 3T g 2

(1) AoftA (2) AorB

(3) Avirc @) 4ofD

Give the full form of IRC.

(1) Indian Road Concrete (2) Indian Road Congress
(3) Indian Rail Congress (4) India Road Congress
IRC &hT 9T ATH FAT & ?

(1) R TSH dHhic 2 HRAT TS FHAH
(3) HRANT YA HEIH (4) ART TSH ST
The rate of rise or fall of road surface along its length with respect to the horizontal is
(1) formation level (2) camber
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(3) gradient (4)  sight distance
SfasT & T # sHFHT TS & 1Y 5 Tdg & IS IT 3dN I FAT Fed & ?
(1) @FEEvTER (2) FF

(3) gdordr 4) TI

The stopping sight depends upon

(1) Terrain Category (2)  Speed of Vehicles

(3) Type of Vehicles (4)  Type of Roads

o ¥uer frg W e axar g 2

(1) T Fr ofr (2) argd & afa

(3) dTEeT & FhR (4) TIH &HIPR

Proper geometric design will help in

(1) Increasing speed of vehicle (2)  Reduction in gradient
(3) Reduction of accident (4)  Reduction of carriage way
3RIT SfAfY Berse fras geradr Far g ?

(1)  dTgeT ST Sgar It (2)  dUTAT & FHeT

(3)  gEieeT A el (4)  dTg AR & FeY
Concrete having unit weight lower than ordinary concrete is termed as

(1) fiber concrete (2) light weight concrete
(3) air entrained concrete (4) polymer concrete
AT Shshic ¥ T SIS HR dTell Shehic Hgelldl &

(1) WIS FHhic (2) godhl ashic

(3) 9fed arg sshie (4) dreleR Sshic

Under water concreting can be done by

(1) Tremie method (2)  Caissons

(3) Prepacked concrete (4)  All of these

qrelt & JA Shehie fmgd Hr Iy g ?

(1) A geufa (2) HE

(3) ydde Fhre (4) gl

As per Indian Standard, temperature for reporting the specific gravity is

(1) 30° (2) 27°

(3) 25° (4) 15°

HRAT HTeTeh oh 3HTHR fARISE T6ca AT el oh fT fohetaAr AT grar g 2
(1) 30° (2) 27°

(3) 25° (4) 15°

The ratio of the plasticity index to the is termed as toughness index.
(1)  shrinkage index (2)  consistency index

(3) flow index (4)  shearindex



49.

50.

51.

52.

53.

54,

CollECehel AP I o ]I T ShoRdl Fehieh $hed & |
(1) EaeT gahich (2) @Il g
(3) waTE Hxlehieh (4)  3UEIOT FHhIH

Give the full form of HSFG.

(1)
(3)

High Strength Friction Grip Bolt
High Shear Friction Grade Bolt

HSFG &1 9T =ITH &1 g ?

(1)
(3)

In bolted joints, pitch shall not be less than

(1)
(3)

diee o@Y Si1s  <I2 Forad o w7gT gral 2

(1)
(3)

3= &TH AT gvuT 3T Stee
3T {YRYUT gYUT I Siec

1.7d
2.7d

1.7d
2.7d

(2)  High Shear Friction Grip Bolt
(4)  High Strength Friction Grade Bolt

(2) 3TT IR TYUT FAT Siec
(4)  3TT &THAT 99T I3 e

2) 25d
4) 19d
2) 25d
4) 19d

In Haryana which of the following is not comprised in Ahir Women’s dress ?

(1) Lehenga (2)  Orhni
(3) Thel (4) Angia
gRETOT # AT & & iet @ 31fex AT hr JersyaT & AT 71 § 2
(1) e (2) 3Meen
3) o« 4 sfEr
How many districts are there in Haryana ?

(1) 22 (2) 23

) 21 (4) 24
RO 3F R vy & 2

(1) 22 (2) 23

3) 21 (4) 24

Haryana Chief Minister, Manohar Lal Khattar on August 4, 2015 launched which scheme in

Chandigarh ?

(1)
(3)

Thari Pension Thare Pass
Beti Bachao Beti Padhao

(2)  Aapki Beti Hamari Beti
(4)  Biomass Project

ERATOT & FET HAY FAgR ollel WX o 4 I, 2015 FT TS1TG H hleT AT Arsfedl Y& T oY 2

(1)
(3)

AT 92T AR 9T
ST T SET ger3

Ibrahim Lodi’s Tomb is situated in

(1)
(3)

Gurgaon
Jind

(2)  3Tghr SE gAY 9Er
(4)  SREAN™E 9IRS

(2)  Panipat
(4)  Faridabad
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SR aTel &7 FeraT U &

(1) Isaa# () 9eiugF

(3) Sfic#H @) wlEEEH
Which of the following lakes is situated in Haryana ?

(1) Damdama Lake (2) Kotla Lake

(3) Khalilpur Lake (4)  All of these
=T & @ gRon & i @Y shier a2

(1) eoeHT sier (2) e s

(3) @elrorqX girer (4) g

Saina Nehwal was born in the district of

(1) Sirsa (2) Fatehabad

(3) Rewari (4)  Hisar

AT Agalel T S $H forel 7 g3 T :

(1) & (2) WIREE

(3) @ 4) fRER
Mithathal famous for the remains of Indus Civilization is situated in
(1)  Jind district (2)  Hisar district
(3) Bhiwani district (4)  None of these
Tee] Fo2reiT ok 37aIst @ ITey Hrgryel afeyd &

(1) Siiga# (2 RarGa#H
(3) oo erd (4)  TH QRIS AL
Who is the Constitutional Head of the State Government ?

(1) Governor (2)  Chief Minister
(3)  Chief Justice of India (4)  None of these
U TIHR AT HILTToAeh THG ahlef g g 2

(1) TSIF9rT (2 HFeEHA

(3) IR o HET =g (4) AN A IS AGT
The birth place of yoga guru ‘Baba Ram Deo’ is in the district of

(1) Gurgaon (2)  Rewari

(3) Mahendragarh (4)  Bhiwani

IeT GHTE 'S16T THST' &1 oo d AT 5T ST 7§ 2

(1) dzama 2 @EE

(3) HEeaIG (4) THawe

When first President rule was imposed on the Haryana State, who was the President of India ?
(1) Dr. Rajendra Prasad (2)  Dr. Zakir Hussain
(3) Dr.S.D.Sharma (4)  Dr. A.P.J. Abdul Kalam

10
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64.
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66.

o @@ gRAVT T & gu# Tegula AT of19] R 9T, J R & Tsgafd sl & 2

(1) 3T ol gaTS (2) s SRR géieT

(3) 3 uH. I eE (4) = TS 3Hege dHorrH
Choose the incorrect pair.

(1)  Kabuli Bagh — Panipat (2)  Navgrah Kunds — Kaithal
(3) Jal-Mahal — Narnaul (4)  Jyoti Sarovar — Ambala
ITT GIH T TFel FifaT

(1) SISl &TeT — UTeliael (2) GUE F3 - HIA

(3) S-Hgd — ARG (4) SAIfd TR — 37FaTer
The first woman mountaineer, who climbs over the Mount Everest twice, is
(1) Santosh Yadav (2)  Sunita Sharma

(3) Malleshwari (4)  Mamta Kharab

Tgell AfgeT TddRIE! [t a1 IR A3 Tatee W oo 4 grea &

(1) Fedly Iea (2) gelrar A

(3) Heoalr (4) HAD TS

The magazine “Haryana Samvad” is related with the department of

(1)  Agriculture (2)  Information & Public relations
(3) Industry (4)  Sahitya Academy
ERATOT Fare, I T Feaeel ford fGmeT a g 2

(1) P (2) |1 TG olleh HFIEH
(3) 3T (4) Wi HPIGH

Le Corbusier, the architect of Chandigarh was belongs to which country ?
(1) Germany (2)  France

(3) ltaly (4)  Spain

UG T AR ol IS foha 2T o faredy ar 2

(1) =T (2 wE

(3) sl 4)

Devi Shankar Prabhakar is associated with which of the following field ?
(1) Dance (2)  Music

(3) Painting (4) Cinema

gAY g folesT 7 8 fore a7 S @l § 2

(1) = (2 @Ifa

3) f= (4) &=

Which milch animal is known as ‘Black Gold’ in Haryana ?

(1)  Neel Guy (2)  Murrah Buffalo

(3) Black colored cow (4) Goat

11
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68.

69.

70.

71.

72.

T GUTR U] T §RATUT & ‘SHTell HYAT' gl STl § 2

(1) A 2 #uAa

(3) It WrhTImA (4) SR

Which ancient city of Haryana was known as ‘Sarpadaman’ ?

(1) Sonipat (2) Sohna

(3) Sirsa (4) Safidon
HIGHT, §RATOT & forg Uit AR FTATA § 2

(1) &g (2) 9

(3) e (4) HbKE]

Which canal of the Haryana is carved from the place Tajewala?

(1) Western Yamuna Canal (2)  Gurgaon Canal
(3) Bhiwani Canal (4)  Bhakra Canal
ATSaTelT AT TATA F gRATOT Hr ShleT Y 51g3 [AFrel a1 & 2

(1)  ofeuer I8 g3 (2)  IEea e

(3) e e (4) TS AR

In which year, "Water Conservation Mission" was started by Govt. of Haryana ?
(1) 2001 (2) 2002

(3) 2003 (4) 2005

ERATOT TR EaRT 'STel TI&T0T FAerT fohe av gest fomam arm 2

(1) 2001 (2) 2002

(3) 2003 (4) 2005

Skill Development University is established in the name of 'God Vishwakarma' in

(1)  Kurukshetra (2)  Palwal

(3) Bhiwani (4) Jind

HITaT fARTHAT & ATH IR EATAT hiereT faere [Aeafacarera werfua fasar srr
(1) FeaTH (2) YdadH

(3) fHaENH (4) Sic#H

With reference to Govt. of Haryana, Kavita Jain is associated with which department ?
(1)  Urban Local Bodies (2)  Transportation

(3) PWD (4)  All of these

gRATOT TXFR & HGe 7 idar ofe fore fasimer & Fafa g 2

(1) ol T A (2 u9RagT

(3) eonrfafa (4) Tar

All of the following are Boxers of Haryana, except

(1) Dinesh Kumar (2)  Manoj Kumar

(3) Sanjay Kumar (4)  Jagdish Singh

12
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74.

75.

76.

77.

78.

fAFfafad @it gRToT & FeFharor 8, ary

(1) fRTHAR 2 HAST FAR

(3) T FAR (4) ST g

Manu Bhaker of Haryana won m Air Pistol Gold at the ISSF World Cup in Mexico.
(1) 50 (2) 10

(3) 20 (4) 100

gRATOT T He] HIRT o ATFTRT F ISSF Tos Y FHI #HIeY TR fOFee 9Mes i |
(1) 50 2) 10

(3) 20 (4) 100

From 4 to 15 April, 37 sports-persons of Haryana are participating in 2018 Common Wealth
Games at Gold Coast. Gold Coast is in

(1) Australia (2)  Brazil

(3) China (4) Japan

4 F 15 319 do gRATUT & 37 fQ@ET 2018 IASCHSS Well H JMes e H RTATA T & | 3Mes hiee

&

(1) sreefom#d (2) e H

(3) @A (4) SO A

How many male sports-persons of Haryana are participating in 2018 Common Wealth Games ?
(1) 20 (2) 22

(3) 25 (4)  None of these

2018 ISgHS Well 7 gRATOT & el oW TelmsT feTa@T I 8 2

(1) 20 (2) 22

(3) 25 (4) o A HIS AL

At the centre of Earth, the acceleration due to gravity is

(1) Zero (2)  Very high

(3) Cannot be calculated (4) Infinity

YAl & sheg;, H Jocaleh¥oT & HROT a0l §

(1) <= (2) ag(—-r“ﬁrr

(3)  ITOTAAT ALY T ST Hhclr (4) 3Ed

Who has been appointed as the new Chairman and Managing Director of Air India ?
(1)  Rajiv Malhotra (2) C.C.Raman

(3) Pradeep Singh Khorala (4)  Ashwini Lohani

fondY TaY 3133 o o7 3reget 3R gaer fHeere & & # fgerd fhar g 2

(1) g Fegrar (2 e

(3) wufldE @RTem (4)  3TRas g

Which policy of the East India Company rendered the Indian poor and indebted ?
(1)  Unjust tariff (2)  Unjust revenue

(3)  Unjust quotas (4)  Unjust expenditure
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79.

80.

81.

82.

83.

$EC T3aT ST Y ford A & TR ot 1819 3R FrotleR g2 2

(1)  3giad Yo (2) 3FgEYe TSRS
(3)  3ATIYLY T (4) IETTET
Which of the following country is larger than India in area ?

(1)  Spain (2)  Pakistan

(3) Canada (4) England

et 7 & FleT A1 ST TFAT H HRT A TS ?

(1) ¥ (2 ufrEd

(3) halar (4) EIelUg

Fill in the blank :

P,PQ, QPQ, QPQQ, QQPQQ, , QQQPQQQ.

(1) aapraaa (2) QaapaaQ

(3) Qapraap (4)  None of these
Reeret Tt & it Y |

P,PQ, QPQ, QPQQ, QQPQQ, , QQQPQQQ.

(1) aapraaa (2) QaapraaQ

(3) Qapaap (4) o A HIS AL

Arrange the given words in the meaningful sequence./in advanced
1. Scooter 2. Bicycle 3. Aeroplane 4. Truck 5. Car

(1) 23415 (2) 21543
(3) 24153 (4) 34512
fArafaf@d & arv ersal it 3rdqut Aol & ey / SR A TS

1. THeT 2. WISThel 3. §aTS SIETST 4.Th 5. &R
(1) 23415 (2) 21543
(3) 24153 (4) 34512

Choose the word which is different from the rest.

(1) Apple (2) Watermelon
(3) Orange (4)  Potato
SiY Qreg; GE & 3T § TR TTA Y -

(1) @« 2 A
(3) &ArEl @) 31T
BLIW : AKIV :: ZNJV : ?

(1) YmMU (2) YHNU
(3) YGHZ (4)  YMIU
BLIW : AKIV :: ZNJV : ?

(1)  YIMU (2)  YHNU
(3) YGHz (4) YMIU
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84.

85.

86.

87.

88.

89.

Three numbers are in the ratio 3 :2:5 and sum of their squares is 1862. The numbers are :

(1) 24,16 and 40 (2) 15,10 and 25
(3) 12,8and20 (4) 21,14 and 35
oo FEATT 3 : 2 5 3 37T H & 3R 3o7eh q9if 7 AT 1862 & | HEATT &
(1) 24,1631 40 (2) 15,103R 25
(3) 12,83 20 (4) 21,143 35

Ifv2:(1+V3)::V6:X, thenXisequalto:

(1) v3+3 (2) 1-v3
(3) 1+v3 (4) v3-3
I V2 1 (1+V3):: V6 : X, Al X T Hed F47 g1 -

(1) v3+3 (2) 1-v3
(3) 1+v3 (4) v3-3

The altitude drawn to the base of an isosceles triangle is 8 cm and the perimeter of the triangle
is 32 cm. The area of the triangle is :

(1) 55sg.cm (2) 60sg.cm

(3) 65sg.cm (4)  None of these

Teh GHGTATS] THeTST & TR OX Wiem a7 oo 8 AT § 3R TegaT hr aRfer 32 @ & | gt &t
ECTCRS

(1) 553 AT (2) 60T AT

(3) 65T A (4) ST A FIS 7TET

In a classroom the number of girls is 20% more than that of the boys. The strength of the class is
66. If 4 more girls are admitted to the class, the ratio of the number of boys to that the girls is :

(1) 1:2 2) 1:4

(3) 3:5 (4) 3:4

T el 7 aTsfahal hr G&ar asehi & 20% ST & | et H 66 et § | afe 4 arsfanar sam 7 s
g, A o5l ¥ oI5ToRall T 1TaTer T gam 2

(1) 1:2 (2) 1:4

3) 3:5 (4) 3:4

Acids react with metals to liberate :

(1) Carbon monoxide (2) Water

(3) Hydrogen (4) Carbon dioxide
TS T3t & ATy Gffhar shieh FT HoFd HIAT & ?

(1) e AAFASS () g

(3) gmssre (4) FIoeT SEHTFEES
The gap between two neurons is called

(1) Synapse (2) Dendron

(3) Synthesise (4) Axon
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90.

91.

92.

93.

94.

95.

96.

97.

el =g=H o sTel & 7RI &l Fed &

(1) fecw 2) Sz

(3) ddEIES (4) TFEe

A rainbow is always formed in a direction

(1) Above the sun (2) Opposite to the sun
(3) Below thesun (4) At the same level of the sun
SOEY AR 5 T H ST & -

(1) FTWHIR (2 wFE&HHEHT

3) W& @) I HHATER R
Fill in the blank using the correct preposition :

The aeroplane flies the clouds.

(1) on (2) over

(3) across (4) by

Select the correct verb form.

Canl the class ?
(1) leave (2) leaving
(3) left (4) lose

Fill in the blank using the correct conjunction.

We should leave he cannot come.
(1) since (2)  while
(3) than (4) even

Give one word substitute for the following expression :

is a vigorous campaign for political, social or religious change.
(1)  Crusade (2)  Ephemeral
(3) Gregarious (4)  Biopsy
Select the word from the following that is most similar in meaning to the word in capital letters :
FASCINATING

(1) Clever (2)  Uniform

(3) Charming (4) Boring

TSR fohd THTH &7 3GTeX0T § ?

(1) FHURT FAH (2 cfa A

(3) YRy FAH (4)  3rcmieTg gATH
foner FgTak 1 319 gYelr & TS @ 2

(1) T ST I§ ST (2) AT H olaT

(3)  3MHATT & W 33w (4)  gesl S
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98.

99.

100.

31Tor 2Tec T 3Tl 2reg § -

(1) &, P (2) &Ha, 3
(3) I, Yk (4) I, 37T
Ush hglfeldl shl JEcieh of TSI | aTeFT & Tohd 19T & 3RED & 2
(1) UH Fgifaar (2 FHr

(3) YEIH 4) o TS |

RIS B 3175 | T SgeT GRA &1 91T | SHRT Al AT § -
(1)  foRTel % 3$ AR T g R e |

2) ﬁﬂ?ﬁ%ﬂ?aﬁwwa@qﬂs‘rml

(3) T oIl & 3T I T TET G T |

(4) SR E FoRTell €T 3T, T Tgd GRAEY T |
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